FRONTWING | (oo e oraue 5hm) | BACKWING | (o torque 10
Aero Glide 725 M8x30 GL 165 Méx16
Aero Glide 905 M8x30 GL 180 Méx16
Aero Glide 1085 M8x30 GL 200 Méx16
Aero Glide 1305 M8x30 GL 200 Méx16

BACK WING WEDGE

WING COMBO (recommendation)
Aero Glide 725 / GL 165 BW No Wedge
Aero Glide 905 / GL 180 BW No Wedge
Aero Glide 1085 / GL 200 BW No Wedge
Aero Glide 1305 /GL 200 BW No Wedge

¢

FANATIC

ADDICTED

TO

RIDE

%2 FANATIC

DOWNLOAD
PRODUCT MANUALS

www.fanatic.com » foil » our-world » support » manuals

Die Informationen zu Haftungsbeschrénkung, Sicherheit und Gefahren entnehmen
Sie bitte dem bei Mast und Fuselage beigelegtem Manual.

Please pay attention to the manual delivered with mast and fuselage and read the
information about dangers and safety of foiling and limitation of liability.

Veuillez lire attentivement le manuel fourni avec le mat et le fuselage ainsi que les
informations concernant les dangers et la securité liés & la pratique du foil, la limita-
tion de responsabilité.

La informacion sobre la limitacion de responsabilidad, seguridad y peligro se puede
encontrar en el manual adjunto con el mastil y el fuselaje.

Le informazioni sulla limitazione di responsabilitd, sicurezza e pericolo, disponibili nel
manuale allegato allalbero e alla fusoliera.



Technical information wedges

Tendency of foil to rise

++
+0,50° < P
e g +
+0,25° e
CARBON 3x M8x50 o rﬂ\;z ,,,,,,,,,,, -
AL30 2x M8x35 T ==
-0,50° C\V——? ..... B
- =
SCREW LENGTH SCREW LENGTH BACK WING WEDGE
FRONT WING (recommended torque 15 Nm) BACK WING (recommended torque 10 Nm) WING COMBO (recommendation)
Aero Lift 2400 M8x40 300 M6x20 Aero Lift 2400 / 300 BW No Wedge
Aero Carve 750 M8x25 216 M6x20 Aero Carve 750 / 216 BW No Wedge
Aero Carve 900 M8x30 216 Mé6x20 Aero Carve 900 / 216 BW No Wedge
Aero Carve 1150 M8x30 250 M6x20 Aero Carve 1150 / 250 BW No Wedge
Aero Carve 1400 M8x35 250 M6x20 Aero Carve 1400 / 250 BW No Wedge
Aero Free 800 M8x25 216 Mé6x20 Aero Free 800 / 216 BW No Wedge
Aero Free 1000 M8x30 216 M6x20 Aero Free 1000 / 216 BW No Wedge
Aero Free 1250 M8x30 250 Méx20 Aero Free 1250 / 250 BW No Wedge




Technical information wedges

Tendency of foil to rise

™\
+0,50° \’?ég _— o
+0,25° ' Téﬁ *
CARBON 3x M8x50 0.25° r}p:z -
AL30 2x M8x35 ’ =
-0,50° Lc\;‘? . --
1 —
FRONT WING SCREW LENGTH BACK WING SCREW LENGTH WING COMBO B(?::ﬁ:[::ﬁ;ﬂ;:l:sf
FLOW 1000 M8 x 25 215 M6 x 16 FLOW 1000 / 215 BW No Wedge
FLOW 1250 M8 x 25 215 M6 x 16 FLOW 1250 / 215 BW No Wedge
FLOW 1500 M8 x 30 215 M6 x 16 FLOW 1500 / 215 BW No Wedge
AERO 1500 M8 x 40 295 M6 x 20 AERO 1500 / 295 BW -0,5°
AERO 2000 M8 x 40 365 Mé x 20 AERO 2000 / 365 BW No Wedge
AERO HA 1250 M8 x 30 250 Mé x 20 AERO HA 1250 / 250 BW No Wedge
AERO HA 1500 M8 x 30 250 Mé x 20 AERO HA 1500 / 250 BW No Wedge
AERO HA 1750 M8 x 35 300 Mé x 20 AERO HA 1750 / 300 BW No Wedge
AERO HA 2000 M8 x 35 300 Mé x 20 AERO HA 2000 / 300 BW No Wedge






